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Problem quickname:

b

Double the number.

a)d-2=38
e) 182 =36
i)10-2 =20
2)

Double the number.

a) 36.36 - 2 = 72.72
d) 42.63 - 2 = 85.26
g) 19.03 - 2 = 38.06
i) 14.82 -2 = 29.64
3)

Double the number.

a) 68 -2 =136
e)35-2="70
i)3-2=6 j
4)

Double the number.
a)l-2=2

e) 20 -2 =40

i) 15-2 =30
Good Luck!
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Worksheet
4627
b) 12 -2 = 24 )1-2=2
£)15-2 = 30 g)3-2=6
)13-2=26

b) 97.45 - 2 = 194.9
e) 60.01 - 2 = 120.02
h) 36.87 - 2 = 73.74

b) 95 -2 = 190
£)8-2=16
) 822 = 164

b) 18 -2 = 36
£)12-2=24
i) 10-2=20

c)30-2 =60 d) 40 -2 =80
g) 100 -2 = 200 h) 60 -2 =120
c) 16-2 =32 d)8-2=16
g)6-2=12 h)7-2=14
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c) 55.22-2 =110.44
f) 42.15-2 =84.3
i) 27.15-2 =543
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